
 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

  



 

 

 

 

 

∆ԱՀ = ∑ (ԻԾ𝑖
Հ − ԻԾ𝑖

Փ) ∗ Ս𝑖 ∗ (1 +
𝑚∗Տ

100%
) ,𝑚

𝑖=1  



 

 

 

∆ԱՀ = ∑ ((ԻԾ𝑖
Հ − ԻԾ𝑖

Փ) ∗ Ս𝑖 − ԳԷՀ𝑖
Հ + ԳԷՀ𝑖

Փ) ∗ (1 +
𝑚∗Տ

100%
) ,𝑚

𝑖=1  

 

 



 

∆ԱՀ = (∑ (ԻԾՀ𝒊 ∗ ՎՍ𝒊) − ՎԾՀ − ԾԱՀ
𝒌
𝒊=𝟏 − ԷԳՀ) − (∑ (ԻԾՓ𝒊 ∗ ՎՍ𝒊) − ՎԾՓ − ԾԱՓ

𝒌
𝒊=𝟏 − ԷԳՓ) , 



 

 

 



 

 

 

  

∆ՖԾԵ = ՖԾԵԳ ∗ (1 −
ԻԾՓԳ

ԻԾՀԳ
) ,

 

 

 

 

 

 



 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

𝑇ԿԷԱ =
ԱՀԿԷԱ

𝑊առ
 , 



 

 

 

 

 

𝑇ՀԷԱ
Էլ

=
ԱՀՀԷԱ

Փ

𝑊առ
 , 

 𝑇ՀԷԱ
Հզ

=
ԱՀՀԷԱ

Հ

∑ 𝑁𝑡
12
𝑡=1

 ,

 

𝑇ԱՀԾՄ =
ԱՀԱՀԾՄ−ԱՀայլ

𝑊առ−𝑊արտ−𝑊այլ
 ,
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𝑇ՎԷԱ = 𝑇ՎԷԱ1 (𝐾1 ∗
𝐶𝑃𝐼

100
+ 𝐾2 ∗

𝑅1

𝑅2
) ,

 

 

 

 



 

 

 

 

 

 

 



 

 

 

 

 

𝑻ՀՕ = ԱՀՀՕ
𝑾Մ+𝑾ԲՀ+𝑾ՈՍ+𝑾Ա

 ,

 

 

 

 

 



 

 

 

𝑻ՇՕ = ԱՀՇՕ
𝑾Մ+𝑾ԲՀ+𝑾ՈՍ+𝑾Ա

 ,

 

 

𝑻Հ = ԱՀՀ
𝑾Մ+𝑾Բ+𝑾ՈՍ+𝑾Ա

 ,

 

 

 

 

 



 

 

 

 

 

 
 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

ԳԷԲ𝑘 =
ԳԷԲ

∑ (∆Է𝑘+ԷՍ𝑘)𝑛
𝑘=1

∗ (∆Է𝑘 + ԷՍ𝑘) ,

 

ԳԷՄ𝑘 =
ԳԷՄ

∑ Է𝑘
𝑛
𝑘=1

∗ Է𝑘 ,



 

  

 

 

 

 

 

 



 

 

 

 



 

 

 

 

 

 

 

 

ՍԷ𝑘 =
ԳԷՄ𝑘+ԵՄԾ𝑘

Է𝑘
+

ԳԷԲ𝑘+ԲԾ𝑘

Է𝑘+ԷԱյլ𝑘
 ,



 

 

 

 

ՍԷ𝑘 =
∑ ՍԷ𝑘𝑖∗Է𝑘𝑖

∑ Է𝑘𝑖
 ,

 

 

 



 

 

 

ՍԲԾ𝑘 =
ԳԷԲ𝑘+ԲԾ𝑘

Է𝑘+ԷԱյլ𝑘
∶


